EARAROBEEIERT — 2 N— IBISH —F

20195F8F22H () 10mEPI5I3H

m:e ITTA(IER C2 HSH—M (xwlm | memml - |y ) oo mE
[AE4£] 1% :450,000  ~ 23#%&:90,000  33&:68,000H . 47&:45000 M .~ 57&:22,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
EARK -00. _ . _ As— (dtimaE)
1 3171 975 — 4 3 za% 1(0_0)6 1-1 37.5 1 (4_722) E??:; B
R:27)—>e—0— B:AVEXFv—LA &I *E—
77 2l 01 - Al - P )
2011|1177 797 %8 s T A A ° ‘:3? o
L:O-X%>J4L B:RU-—LLT1 2= FiHi5
s . > 4 | B 1:01.2 7-6 37.1| — 4 490 | HEEIEGL (ALimiE)
3177 EXMILT - 5?3.0 (74%) (+4) [AHEZZ .
L:xrinMn0—- B:JrRds—Yzx Bl &
5 o4 | NEFRS 1:01.3 5-4 37.5| — 3 444 | NEFE (duimE)
4|55V baATZH A51.0 (7€) o |FE=E -
R:Gd7—3IUT7> B:eh)TA HEE {5—
B4 | BEEZ 1:01.4 2-3 38.1| — 6 466 | BAZE (dtimE)
EH 6 ATz AhA 54.n0 (1/2) o) FEREA .
RYIRT4 TSR B:¥x0 /727 — &I -
LA ft 5 | BEXT 1:01.7 2-2 38.4| — 2 482 |FBE— (bim#E)
6189 N)ILE 1)) — 54.0 (1 1/2) (+16) RAZRFIK
LR R—3I2TR—L BNILTRILA BNEFNS
S = it 6 | EREBIESE 1:02.1 4-5 38.3| — 7 M8 | TEERRL (taw)
7 4| TRT1v b 54.0 @ e |BAHE =
R:8=Z/F¥LLy b B:RTFT—K-T RS
° INHREE : -~ — ZHAKG (tEE)
8 NEEEEE = 4 3 A 1.82).3 7-6 38.1 9 &2 SR il
Bl =R % = I S VA A A R*455
— SN BHET :02. - . - BHIRE (tEE
9/g8lg | TLTFILITR "o 56.0 (179573) ¥ 5.8 8 :1_6; mami e
LY LFAN—b B:TLAZXFY X L BRS
® I—F—@EBIERL
13—-7-
23—7F—
33—7F— |3.,(6,9.4,(1,5),(2,7).8
43—+ — 3,9,6,5,4,(1,2,7),8
[ RN
B 3 200 794K 1-3 630F & 1-3 2,080 &R 1-3-7 3,250
BB 3 1204 3-7 520M B E =8 1,660 EE g=il=1 12,190
1 300M 1-7 2,020 B H 3-1 2,780H
7 230

ABICOVWTRDTEEERROODE. TR LIV,




